IR YT hieeaer (weft) wdhar 2017

(SATET igd &1 WIA-U)

26.10.2018 (fgefrar are)

HMET FATH/General Knowledge

1. The amount of water recommended by the
United Nations for drinking,washing, cooking
and maintaining proper hygiene is a minimum

(1) A liter per person per day.

HYTh MY F 0, 4, @A U 3 Ifea
W@l il T W@ & e sevifaa gaaw
art &t [, wiw st wiafes ... ozt 8

(a) 50 (b) 20

(c) 75 (d) 10

Ans : (a) SEE 2010 H ¥FF ¢ WEEW 5 @@ AqA
F ITAHA F TEH AT ANFER FAH F OTEAE HG
foa formd 163 9207 39 & ¥ 122 7 39% 99 § qaeH
e vd 41 0 T wEEE § 9w 9 o faaw 2010
§ grafysn oftees 7 weafd 3 wam oftd & 3wt e
%1, T 99 7 == = = Aifes AR 81 9w
@ & fou suifed =mas ot & 5E 5fd =fE so
e 21

Z. The micro-organisms that convert the dead
plants and animals to humus are known as:

ga St R Smad & wre-fugt § ufamr

T AT GeW Sal i foRd A | AE s L/

(a) Bacteria /SIET7]

(b) Fungus /%TH

(¢c) Protozoa I B |

(d) Decomposers /39929 Fi- dlc.,
Ans : (d) SATHZF AT A9 FH I 'D\,composers)%'
A Eﬁﬂi‘ﬂ'ﬁ Trﬂ'an, SfT?.:lﬁT?ﬂ., F.% (fungs) 2|14
i &1 7 Yo, Fa-se wE Ga FERE ga
g T td fEla #F wa FEtE @ gFEh
diferl § ufiafda #2 2W & 7 i @ swie
AT § Tl W € A1 SHeAdal W S #1 A
W €
3. Groundwater gets recharged by infiltration. At

places, the ground water is stored between

layers of hard rock below the water table. This
water is known as:

g, frama & g et & war 81 o vt
W, YA WSS W % A e g @l
qTal & e BT £1 TH FeA H Fod o

(a) Aquifer /TFTH

(b) Rainwater /@M1 & I

(c) Pool /drem=

Ans : (a) S99 A UFEEL (Aquifer) I F SR Ff
qae & A TgEl B T TH HER (W) § T RS
UFEAA A ¢ U WMA EN TAgd § Fwed ara
SFgFE TS ¥ #2139 A e e g
FA1 2 A FB WE WS, 9Hee W A Fen
TEE A wE F A9 @ 2, 3™ 9 FOCUEE @

SEgd’ Fel S 2 |

(d) Underwater / AT

4. Which among the following is a disease caused
by virus?
feremuy & sRmor foey & & @ ot sfrardt g 87
(a) Cholera /’;’\?ﬂ
(b) Typhoid /31 =
(c) Dysentery® SEm
(d) Tuberculcyis /274 o
Ans : (*) T @G E
Freft @i, I gEim
fawrd gom eama I - aifa, difa, 27, wew
I 7ER A M - ufgw, far @, wefn,
o4 AT
|m/¢7rﬁﬁiﬁaréﬁn-m,@m, g, T
I'mﬁzl

R The Rural Housing Fund was set up in
to enable primary lending institutions to access
funds for extending housing finance to targeted
groups in rural areas at competitive rates.

ot amare faftr @ ad wrfua feman
AT ar aifen wrafteR ST HearEt ot wiaeref
o0 ot arfter g W wfare wWwE o, v
fas we= & & faU o Sueer e § |ew

oooooooooo

HATAT AT Tkl
(a) 2008-09 (b) 2014-15
(c) 2016-17 (d) 2003-04

Ans : (a) AT 3EE A (Rural Housing Fund) &
a5 2008-09 ¥ Tfud fFam mar a1 @S watte =
gEl & wfaerdf @i o andior &5 9 afa |gE &,
IyEY faq gem F9 F v 99 v FO9 § gem
AT S F5 | g 3mErg #7120 A% (RHLF) #3409

T 1996 7 &1 w4 47

6. Frank Whittle is related to which of the below
inventions?
e fageer g o o @ f&m &7 snfassr
ferar T &7

(a) Electromagnetism /fFd JaH=
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(b) Benzene, liquid gases and optical glass
/AN, T T A AEH TE
The induction of electric current
/Forgdita - S
(d) Jetengine /T;E HEC]
Ans : (d) 92 35 F1 sfasEr %% feea A frar an
WE o9 Uhe & agid W S @ 21 92 399 36-
g # A i f9 F w9 F IW@m Fw g1 ImfE
faart § e g9 F1 5am R S 2
g [ Who is the author of the book "Kashmir: The
Vajpayee Years:?

“wydir : & Tt T e feaw &

T B 82

(a) Sanjay Jain /H9F 54

(b) RN P Singh /¥R t7 9 fijg

(c) A S Dulat /T TR T&Ad

(d) Varun Yadav /987 Fie9
Ans : (¢) ¥Eg THE FHR : & awnd s TS
ffam F @@F ImGhd f9g 3a@d (A.S. Dulat) Zl
af 1999 ¥ 2000 7F HEYR R favemw fm
(RA.W.) F 7@ & 9% €
8. When did the President of India give assent to

the Central GST Law?

T GST HFF &I, WA & Tgufa 3 &a

Weuta werT i &7

(a) 18" April 2017 /18 3T, 2017

(b) 22" April 2017 /22 3T, 2017

(¢) 5™ April 2017 /5 30, 2017

(d) 12" April 2017/12 38@, 20174, W
Ans : (d) 519 a5 ©d Fa1 F (SReed ) un e
F 8| T Fumd, @ FA A OwE & O
v wig 21 Hum A, awa 7 014@ L2007 7 @y fEn
T g U, BT B 12 94F 017 WA &
apaft s gaEstt 3 2o Tenfa waq #i 4
9. The Information Technology (Amendment)

Act, 2008 came into force on October 27...........

goAT drEfeRt (@enes) arferrEm, 2008, 27
......... T EAT AT

(a) 2009 (b) 2016

(c) 2001 (d) 2005
Ans : (a) TF St (o) sffEm 2008, 27
SFEAT, 2009 F AT B AN G afufram Fi
@ 2000 ¥ @] A T 91 e g 15 e,
2006 F FEAT S (deeE) wfafiEm 2006 #
ArFaar § 99 fFa m ud 23 fwey, 2008 # F6I &
a1 T T 38 U W 5 35S e swadl, 2009 #
gaa S (geiee) sfafagm, 2008 #F oaedfd 3
Y WS W A SR 3 MR & TS # ifustaa
& e mam

(c)

10. "Handmade paper" is selected as a product

district of Uttar Pradesh under
the "One district One Product" scheme.

“uw foem, UE SAR AT & dEd
" grafafifa s o Sares & fow ST e
S et =t g=T A 7

(a) Amethi /33T

(b) Jalaun /STEt

(¢) Deoria /2aftr

(d) Kushinagar /m

Ans : (b) 24 S8, 2018 F IW W=V FEH F @™
T I VSV WHN F0 UF A1 TF IS (One district
one product) Sl F YHRA fFar TN T ASAW &
7ed 3.9. & ‘Wae fae & ‘gwtafda we F 3aeA
F fau g mn &1 safE owfre @ & me e

TR & A e & AU g T g

11.  15year old Shardu, Vihan, who is Asian Games
2018 Silver m<“alist in double trap shooting
event, hails* fron district of Uttar
Pradesh.

TITETE @e 2018 F TEe 29 yfeT W Twa
e fas a 15 adffa ynger fage 37 wevT &
......... o=t & £

(#) Buiandshahr /gea3mel

W) Aligarh /3TTE

‘¢) Meerut :erc

(d) Saharanpur /HEHAY
Ans : (¢) W@ fagm gfém wof & daftm &) 559 15
af =t 3w F gEN # =9d o0 geT | 2018 F v
Gel § 19 9SF S 911 VEd W g9 ¥ § IW

ooooooooooo

yeu & 713 fa & @A A €

12.  United Province of Agra and Awadh, now
known as Uttar Pradesh, shifted its capital
fROm) ioivions to Lucknow in the year 1921.

s ot sy & g wiw, e oa I
WEYT & AT F AT ST g, T ad 1921 F o0
T ¥ T@as o A e
armi
(a)
(b)

Agra /3T

Dchradun/i’a‘?@

(c) Allahabad /3RS

(d) Kanpur /&L
Ans : (¢c) ¥ UE HAY & HGF Wid o2 7@ I w2
F AWM ° S oW 2, @ e & o9y 19218, #
TARMERE (FATS) ¥ @3 @iaid &1 72 4 gaam
Mg § TEAS I YoV Hi NUIEE F quias TeEET
7] ARER AaF T AW A4 S g1 I
JEY F 399 AOE awrEE § figg 2 st ow
Greds aEas | 2)
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Gautam Budha's mother belonged to ruling
family of Deodah state, which is now in the
......... district of Uttar Pradesh.

a9 g W W aeE AT & INHE UHan o

ot AT 37 3T USIT & faer o 21

(a) Deoria /33

(b) Gorakhpur /Tﬁf@'ﬂ'(

(c) Basti /a3

(d) Gonda /TIET
Ans : (c) TEET AT qF F A F AW TR 971 FE
998 T3 F g g9 4 "4t ff | 2997 759 3
THY § IW 929 & A= foa § Rgd 81 Fiehg TS
9El 3.9 7 A9 F i W7 Rgd g5 Fem RS 91

14. The Ashram of Valmiki was in Brahmvarta,
which is located in:
ATeHifeR ohT MW Feuad ¥ o1 = T g
(a) Bithoor /faaT
(b) Jhansi /ZdT
(¢) Lalitpur /AT
(d) Urai /3%
Ans : (a) 7l arfifE oM 98 ™a 2, W& W wh
AANF 7 AIF TEFE TIE F = F oA e

13.

arHiF T AT qEE § A1, o F A § fagy §
fem &1 fag ws oftg feg wiffE w3, 9 fr
Ta¥T & FAE | 7 2
15. Uttar Pradesh brought out fir:¢ li.;l_il
newspaper named ... , edited b _o.'nd
Raghunath on 1* January, 1845,
TEelt T, 1845 W I WA A, ElC)

veen fe=t wurames e e i vy

I Hurfed faram «m

(a) Saraswati /90

(b) Banaras Akhbar /F9H 3@4R

(¢) Hans /89

(d) Jagran /ST
Ans : (b) | SFE8 1845 & I e TH ¥ ‘TANA
FEa' AHE e feat guER 93 fwen o mia
g A qufed & 411 s@ER F §9ed (Director)
T ferawars faar fas ) &=t 1 w99 goeR @ 35
grdve a1 fama gHeE 30 ¥ 1826 § Fawa § y[E
fohen T A1) TEE FEEE JIenHaR YFT 41 56 H
Iaeg 1§ 30 9 F =D e faEg mam s 8
16.

Sharqi ruler of Jaunpur, Sultan Hussain
Sharqi, was a great musician and developed
Bada Khyal, which was developed on the

W Tiasr 4 317 37 ..., & a9 U7 =T
AT faetaa ferar am
(a) Thumri /g (b) Ghazal/TsTet

(¢) Quawali/FHaTA (d) Dadra/3&1

Ans : (a) 390 9rdE @7 & v MEA IR 2 @
e e @ 398 @, &1 9 99 F e ad g
9| IFH I F 76 W T2 WA Ewa B g

17. Bhed Kund, where Arjun took aim at the fish
to win Draupadi swayamvar, is situated in:

&g drz, T v 3 A F IR o
B w1 9= ==ET 9n, 39T e &
o
(a)
(b)

Etawah /220
Firozabad /{0 TER=
(¢) Farrukhabal / R I
(d) Barabanki @R AH!

Ans : (¢) 77 FF (Bhed kund), 5@ 3 F qi=E W
ZUg HH AU § W e % o wwel # stm W
froml FAT 90 3T W2V T F wRaEEE fad § g
2|

18 i ame the British Governor General who
introduced railways in India?

3w fafewr madt e & 9w @ad e

qE | o9 w1 YUY faar an?

(a) Lord Auckland /&8 3%z

(b) Sir Charles Metcalfe /9% =red HZTFHF

(¢) Lord Hastings /&g gfemg

(d) Lord Dalhousic /TS Setersit
Ans : (d) @€ TARST 947G § 1848 T 1856 A% TN
T I F g9 F 9 § 999 an 16399, 1853
3 damd 4@ g F g 4fFh) Tmd T 5 oo
TARIS H ARG H 16d F SI9F = 506 2

19.  Which state has the lowest per capita income in
India as per to report by Ministry of Statistics
in 2017?
Wittt Woera i {ure 2017 & 299N, 9N

i forw o W @ Wi wAf o &7

(a) Uttar Pradesh /39 3a91

(b) West Bengal /Sf4% Fme

(c) Bihar /fRR

(d) Odisha /3ifeem
Ans : (¢) T3 wiegH dem F:1 9 2017 &
FqEn, ‘TR’ # ufd =fE w1 = TsE o qe 8
qaq F9 2

pattern of:
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20. With which musical instrument is the noted

musician Arvind Parikh Associated?

T & WY 2 gu E?

(a) Tabla /adet (b) Sitar /fHaR

(c) Flute /argf (d) Shehnai /Y&

Ans : (b) 3= I F 59 19 IFFRH, 19275 #
IEHEEE TS H g 911 = ufaE faar e
am 41§ 2 9f6s ieer ¥ JaftE @R e
TH g VEAE aEd & 9 H 94 99 91 9. giuEs

Ans : (b) TRF & Hfaum § q=ee-20 il & gad

¥ g § gafed 21 39% aid 89 @R F gEus

fo T 8-

|. Tt ot =afs 1 v 30w & AU Fad o a8 |/
ot |

2. AfF g0 AW FH F 99 I FF & 39 F 789
& en faerft a1 f& 379 FEA & d@d 9 a8 § g
T |

3. = 3 Wd & [ AEEd § TER a9 & a9y
81 faEar s

& w9 ° 79w &)

21.  What is the estimated quantity of food grain

output during the crop year ending June 2018?
FA 2018 FH AT B A& HHA a8 & 2=

AT IeqTE T FTHTAA AT T &7

(a) 254.83 Million tonnes /254.83 faferas 29
(b) 264.83 Million tonnes /264.83 fafergq 29
(c) 274.83 Million tonnes /274.83 faferam 29

24,

The state has to provide free and compulsory
education to all children of the age of to 14
years under Article 21A of the Constitution of
India. Fill in the blank with the most
appropriate option.

YA WEUH % AT9E 21A & a8d, T @l

.......... ¥ 14 T F g & vt a=a w que
3T stfrard e yerE T §)
(a) 4 (b) 6
(c) 8 (d) 10

(d) 284.83 Million tonnes /284.83 faferaq 29

Ans : (d) @@ Ud FW @ F 7 2018 F gAlfA,
YA § 3RS F IAEA 99 & 3 § (2017-18) F FHA
a & (284.83) fferaT 29 & =AW T 9% wWEA &
A 21 S W 9AEA & AR T, 999, 9 3
i ared # fd see § |

|
22.  What is the total number of stocks cc . ofituti g

|(RTE) TF 2009 H 3

Ans : (4) YR 5 G@FUE § se-2] 9 U9 3
=l § VA3 81 sEfE 99ERE 21(A) F T8 T 6
7 7 oamg F oo deE @ 0 @ § s fF
T, W (F) g iR &, faes v afad
T H 3T A 21(A) B 869 WEFEH FIMEA
2002 FRT Fawifgad fmar T @ e w e

the basket on which the S and P.BS) “ensex,
or the Sensitive Index is based?

S & P BSE 2o o dfta g9 fow ww

AT IH AR H .. e #
(a) Twenty 18] v Thirty e
(¢c) Forty /aTE (d) Fifty /999

Ans : (b) TH. wrg §  Fuad 999 (vg g § aiE
TiF UFeds daavia gasie) fa dued 30 d6ew
ff a1 I 21 F@ 30 AT w7 § o= ol
F-TelZ Ahe-d28 LIF Uihe 2299 ¢

23.  Article 20 of the Constitution of India deals
with:
qHE Hiaem & 3rg=se 20

(a) Abolition of titles /93fad1 F1 I=EH

28§.

Which of the following statements is incorrect?

= o | & W g e 87

(a) The Governor can prorogue the Legislative
Council of a state. /7591, T4 FHl fFud
ofE F1 T F GHA 2|

The Governor can prorogue the Legislative
Assembly of a state. /T599TA, T &I faae
T H W FL GHAT 8

The Governor can dissolve the Legislative
Council of a state. /T99@ T4 &l faaE
qfiez F 9T F FqHAT 2

The Governor can dissolve the Legislative
Assembly, of a state. /TS99, U9 & A9
T F G F FFa 2

(b)

(c)

(d)

(b) Protection in respect of conviction for
offences /Zm-fafg & F=d & Fegor
Continuance of the rights of citizenship
/AT & AR i

Promotion of co-operative societies /F&HNI
Hiafaal #1 egd &

(c)

(d)

Ans : (¢) = 169 F AR T4 a9 T6z T59 F
350 U5 A Hed € 399 99 §E w9 § W 40
(T FYUR F, 36) 3R AfuF § a9fvF fFemen F 34
qeE F gE@ 173 g 21 UsauE 1S9 F faue ufte
F 91 7@ F GFEA &, g 193 A fAum wa F o
F HFA 2
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Article 22 of the Constitution of India deals

with:

aretE wfaurT @ sgese 22 froa § & feow

wafer £72

(a) Prohibition of discrimination on grounds of
religion, race, caste, sex or place of birth

vy, ganfd, sfa, fofm =1 997 =W F 3E ®
Yaug F e
Equality of opportunity in matters of public
employment /TEWF TSR & FHal H
HAFL ) AT
Protection against arrest and detention in
certain cases /3@ "Hal § FRERt SR faaraa
& faaers g
(d) Right to property /5t &I 3AHFR

Ans : (c) 9AT HfEaum # #{=2-22 F9 Al §
fgardl ot fRoga F fgors dwew § dafd 21 39
AR 32 2FF F mAEE 20§ fReER o 2 A
34 A9 wER F @ 4 78 2
|. fuma  foaw s 1 Fro s 2
2. 24 92 F i 3W ea F 99w § 9w fEn smom
3. FAf H A9 T6E F FFA U HAR o & ANEH
Zm |

Who was the President of India at the time of

emergency in 1975 /1975 T ATUTARTA & W0

WA & Ul A a?

(a) R. Venkataraman /3R, dFZTEF

(b) K. R. Narayanan /3. IR, AETE

(¢) Mohammad Hidayatullah /7&=7& fe3lam=

(d) Fakhruddin Ali Ahmed /FE%E- e, 393

Ans : (d) RE F 2654, 1975 ¥ 2004, 077 T
Hiafia Al 1 1A F HWR 0T 3T Gifga an
YA F AcHeid TPNd FEsern. 3F o Heds J aenaa
YA TAEE a2 wEh o # e W adEE
HauE & 33 352 & UM RG H FTAEE @n]
F FT ENom HT A AT

28.  The Capital of Lebanon is:
AT i AT &

(a) Beirut /9% (b) Tripoh /Frare
(c) Sidon /HrEH (d) Tyre /2FR
Ans : (a) T anfyafis &9 9 ofged oftrn § gmey
o ¥ gif q2 W fud S S 3w 81 39 I ol
qd § difta 7 afw § geRge fgd €)1 AwA dEe
F T TH deAE 9198 g8 # a0 @) fadel sl

26.

(b)

(c)

27.

e o feoa eftfaan 3 T 2

29.  Which of the following is the currency of
Kazakhastan? )
FHAREEE @ gE e ' & e ot 87

(a) Franc/%® (b) Loti /@

Ans : (c) FAEER A F G GaF T2 29 F | IO
q 77 3y Gifaaa 99 # fGw 9 1991 F =@ifad 99 F
faues F " 394 319 &I @A =G fFan g7 3 gE
&1 21 ForEEE 1 USuE ST 8

30.

Which of the following is the most populated
country in South America?

2feror smfieT ® oy o @ & @1 297 wad
arfereR StraTSr AT 29T §72

(a) Bolivia /Aeifadr  (b) Brazil /&

(c) Peru /I (d) Chile /Faef

Ans : (b) ZfEeft smfE fGva &1 =St 999 921 TEEY
21 g @ aRvl SR WY & siew 99§
Sel F da & e e 21 ania sl smERe
TR 1 9 991 US Haius SEEr aren 29 €,
forma U Werdiy & wam 48%favE qum W fFER 2

Aie SEEn § g &1 uieat gad aer 39 2

(c) Tenge /a7 (d) Shekel /¥1Fe

31.  Which of the folloying nations of Asia is the
largest producc o5~ ‘vetroleum)?

i & fAT Uit F ¥ @ ' 9w odd

(UEferary ST Ha ™ AT SeUTaE 29T 87

(a) Saudisirabia/H3E 3@

(b, Yemer/3894

(C) .i'in,Sc'{W
4 _’J) l"aq/m
Aroc: ) oftTEr # g3 3E e dd (TSifaan) &
{T8 w31 I9ES 39 21 @S (OPEC) Wifedy 3w
FO At X F GeA &, fage stz %
faer Wet § 21 aA9uer da 9Envl § 99 WM @ @
vafs ¥4 3ra fGda =m w2

32.  Which among the following is the oldest oil
(petroleum) producing state of India?

FE W UWA H WA GOAT q6

(Urerferam) Saares T 87

(a) Odisha /3ifEm

(b) Jharkhand /FEE

(c) Assam /3HHH

(d) Madhya Pradesh /9¥4 739
Ans : (¢) 9FG § Fa9 GO 2ifeEn sAEE U59 39
2| femerd vt o U= # dd M F w9 F S I
21 femard (arm) § ufymn # veelt AR A9 U w1 @
g wd g9 1901 £ ufyr # weelt wrad & e
foben mar o e § adl 9% 99 1 IAEE FH A
a8 [ FU E)
33. Who is the Chairperson of India's national

Human Rights Commission as of August 2018?

I, 2018 & JIWW, WHA & WA
WIHATIRTT AT o TAHTT AT i &7
(a) Justice K.G. Balakrishnan /=magfd & .sff,

AR
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(b) Justice Pinaki Chandra Ghose /=rafd fra
=% o1y

(¢) Justice H.L. Dattu /=Imfd T=.Ud. &

(d) Justice D. Murugesan /=@8fd 2. T&TE
Ans : (¢) 9EE THY gEEYER HEM TS @EW
fafers Sem &) SHS TTAT 12 EAT 1993 F g A
FAUH (I 2018) ¥ IREE THE AHaEER AT §
WIOAT AAfeER S afafRE 1993 F deq @
2
34,

What is the total number of commandos in the
all-woman Special Weapons and Tactics
(SWAT) team inducted in India by the Delhi
Police in August 2018?

I 2018 ® WA W foeelt gferw grm wiea
wd wafgen wWurer diow 3T fERT (SWAT)

& ¥ wHuier At e wea et 87
(a) 36 (b) 46
(c) 56 (d) 66

Ans : (a) Rl gferm ¥ sdFar B0 sfas F foag
9 # gl - gaafzen favm efam vE worifa
(Tq.559,u.dt) Z nfea &t 7€ 21 39 I | Fa wfeen
FAIE! # T 36"

35,

With which country has India signed an
agreement in May 2018 on land border
crossing?

UNA F WE 2018 ®, TS ATST G WA, W

o 29T o Ty T faRu #72

(a) Bhutan /9214

(b) Bangladesh /aiTenayt

(c) Myanmar /5IHR

(d) Nepal /9T
Ans : (¢) 35938, 2018 F W-TF @ T F eAga H
F5a dfied 4 ot ardt wfdn 3 gy § 9ra g9
AR % A §EE S ASE & 9Ra T 11 698, 2018
F1 e At FfT ggie W =mE & 919 g fEu
39 TuI § A 4 F AN H A gt 9 e
% 3R T FASE geq grfl |
36. Who was given the Outstanding

Parliamentarian award for the year 2016 by

the President of India in August 2018?

T 2016 o &0, WRE & WEUfd FRT 30T,

2018 W IFE WHST YTERT W Rt Farar

T 7

(a) Ghulam Nabi Azad /A &1 37

(b) Dinesh Trivedi /e fadt

(¢) Dr. Nazma Heptullah /21. 9591 %W

(d) Hukumdev Narayan Yadav /F9ed FREY

g

i

Ans : (b) fama a8 % gduw FiEg [WER T FA aA
= faeaq #-

2013- F9 U FYqee

2014- EF9 33 ATIU FEF (IS

2015- AW T AR (FI)

2016~ faaw fEd (qema Fi09)

2017- HIged WEaE (SF ] T )

37. Who is the Chairman of the Securities and
Exchange Board of India (SEBI) as of August
2018?

IMEA, 2018 F FIAW, AT WhAwfr 4w
fafmoa &S (SEBI) &1 SdATH 3ea% &I &2
(a) Ajay Tyagi /319 =T

(b) G. Mahalingam /3. Herfem™

(c) S.K.Mohanty /UH. & HiEd

(d) UK. Sinha /3.%. fa=r

Ans : (a) TRAE ufEgfd R fafma @i (SEBI) #
IO 12 30, 19885 s iR wifafes Fem F ®9
¥ g 4 30 SHEl 1002\ U IARY 5N R A
38 wifafus a1 = wEm ) e § e
Wy ‘e @Y TE e gag ¥ 2

38. vones are nsed by dentists to see an enlarged
mmage Cine teeth,

= dqf 2% aftia (enlarged) Bfa &t 2@ & fauw

Ze. fehedeRt gRT =T 3uanT feRar wmar

21

(a) Concave mirrors /3H9dd aqu

(b) Convex mirrors /3761 407

(¢) Bifocal mirrors/aﬁmaﬁm

(d) Plain mirrors /9Ta1 40T
Ans : (a) g 3 af¥fd (enlarged) 34 #1 3@t F fou
g & fafega g aad adu & 399 fFar S 2
I9F FeE O miEd #it 22 ege § oft sraad adm
F 54 5 s 2
Fafs I9a 9o AT miEdl Y g § o 2 ) 3
WS ¥ ME & TEH A4 4B N omied F @
gFA 2| 3HEH o W @il 0 ff 3We adu @
g fFa S 2

A& T9dT/Numerical Ability

39. It took 75 days for 42 people to construct a
house. What fraction of the same work can be

completed by 28 people in 90 days?

ferdt o¥ =t I & fou 42 =l grT 75
fe =1 wom faar smar €1 28 =afvwar g 90
fa=t ® @ &1 feRaar W g feman s waRm?
2 4

3 (b) —

(a) 5
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5 7 Ans : (d) 32 e 5@ & 919 #F =1 x e, 2
() - (d) — 3 G
— 5 v g @ T y felyer &1 @
Ans : (b) 3R IWRE | FE F 90 & F T T 135 _
=fwal # g X @ ar x=——=18 ffi/se
2 i) .
4*’1‘75=x"lg° g #1 fagfia faen & 9@ F 9 = (x-y) fEdy s
48
2 . o
m x-S s a g
dfh 35 =af 39 | & 1 90 f57 § 4 £, o, x-y =12
28 =i 90 &9 1 39 = =, Ell 18-y =12
2 G = 6 fl./92T = 910 # 9
=28x90=_8=iqmwml y=6 /
35x90 35 5 2 S 42.  What is the value of
Fanfeass fafer: = X AN &l 9 2
SRS ' 72+[38-{30-(31-60+4x5)} ] =
o[ Fd E -
M,D, M,D, fretertaa = o= = &2
W W 72+[38-{30-(31-60+4x5)} | =
42x75 28x90 | i
. 2 2 (a) -2 (b) -3
p * (c) —4 \ (d) -8
X =— Ans:(a)m'ﬂw\‘ﬁ'
40.  Prabhat cycled a distance of 240 kilometre at a 72 +£“; —{30—(3] —60+4x5)}]
certain speed. If he cycled 3km faster every - ( \
hour, he would have taken 4 hours fewer to = 72+L38‘130-(3l‘15"5)"]
reach the destination. What was the speed in . , N
km/hr at which Prabhat actually cycled? - L [3 8-130- ( —44)1']
mmﬁ%nﬁrﬁuo&vﬁﬁaa&qﬁ =72+[38—{30+44} ]
A AT & A% Wedeh we 3w, srftrem v a5y |
H |TERe ST €1 Al 9 Taey 9 Uge 7 . =72+[38~74]
He WA WA ST g1 W 7 anad Sl =72+ [~36]
fera= fepddt =2 @it nifer & =remg? -
8; ‘l’, EE} ;’5’ 43.  What is the value of
= S 113+11.3+1.13+0.113+0.0113 =
Ans : (¢) af% afFEa #1 f x kar2 - 9
Sa0! 0 freterfiae @ ar == &7
e 113+11.3+1.13+0.113+0.0113 =
a TR e (c) 125.5553 (d) 125.5543
= 240x+4x>+12x = 240x+720 Ans : (d) feam 721 =,
= ax" +12x =720 X = 113+11.3+1.13+0.113+0.0113
= "’*3"1;%0:017 WM x=113+114140.3+0.13+0.113+0.0113
> B X= 14
s x = 125+0.5543
¥: WEfRe 3 T 1 2knvhr AT aS © F ) e
41. In still water, Rajni can row 135 km in 7.5
hours, while she can row 48km upstream in 4 | 44 \What is the difference between A and F ?
hours. What is the speed of the current in 16 48
km/hr? . 7 7 ~ .
fom wieT B AT 7.5 W2 W 135fEdt AT wen ¢ AR o HEm s E?
Werdl ¢ Wafer a8 onr o faofia 4 52 ° 48 . .
ferrft wrar wrem wendt &1 ot S oamr e fe @ = ®) 53
fereft e & == 22 ; '7
(a) 4 (b) 4.5 (c) = (d) =
(c) 5 (d) 6
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Ans : (b) & a1 =9,
T

X =
16 48
_7(48-—16)
16x48
" Tx32

X = o
16x 48
7

X =—
24

16, 24 317 28 W ¥ W& BN (quTfad g+
ATt Tard WY 4 et B wEA = £
(a) 9914 (b) 9764

(c) 9744 (d) 9864
Ans : (c) T8 16, 24 9 28 F F.9.9. = 336
9% =1 HF F gaE a9 F@ = 9999
9999 F 336 ¥ 9N 29 W AF ITFA

Ans : (¢) T &1 fasman 33 = 650
IEAT W FA 2 AF F G = 650 F 72 WfavE
65072

A 3)2’31?‘?? = =468
50. 990 UT 5 @Gl W 16% AU o | Ated
WU ST 4T B 7
(a) T891 (b) Z829
(c) T796 (d) %792
Ans : (d) Ta99 =990, H9T = 5 9
T = 16 ufaym T
q = =——99°lx0106’<5 =% 792
51, fedlt g 0T 23% o oW 3 9% W B &

Hrer @1 AT 7928 ¥ TEl W faemsie awg @

— 955 Y Yo w4 7
3 16, 24 UF 28 § quia: fauifem 2 amelt g (a) %2640 (b) 2880
=9999-255 = 9744 () 2900 (d) %3220

46. 160, 720 3T 400 =T 999, AT &7
(a) 20 (b) 40
(c) 80 (d) 160

Ans : (¢) & T8 T 160, 720 TF 400 F HET.,
160 = 2x2x2x2x2x5
720 = 2x2x2x2x3x3x5
400 = 2x2x2x2x5x5
AHY = 2x2x2x2x5= 80 (IHAS 3{H) |
47. = & E wEmen ¥ ¥ # 9 g e
& 772
(a) 20163
(c) 10404
Ans : (a)?jﬁi,
20163 = (143x143) - 28¢
21316 = 146x146=(146 -
10404 = 102x102=(102)°
14641 = 121x121=(121)"
3 20163 UF QUi &7 G A 2
48. AfE 264 & 31: 13 & 9T ¥ faurfaa fewan
HATET & A BIE 9N & 01 497 &7
(a) 65 (b)y 78
(c) 91 (d) 104
Ans : (b) & TE = = 264
34 31:13 % Ium # faarfom #0 w,

(b) 21316
(d) 14641 »

e 2

B aqmy a7 g = 2oax13 _264x13 _ o 13=78
31+13 44

49. Terdt wawr oftem o 3@ar WA @ & few

T2UfA9Ta 3TeRT S ATAVASHAT Brdl & Ale wiem
& AfereRaw 3t 650 & a7 EaT- Wiftq it &

el o &e 3T Far §7
(a) 432 (b) 450
(c) 468 (d) 486

Ans : (c) T T23% W4 3R 9% F 20 F 912 F
3 = 2928
A% % W T YT x € A
x(190423) x(100-9)
100 100
123x -91x
100
2oy,
100
32x = 928x100
x = 22900
foreft flaeiy = oifeha 9ea T2100 @1 38 «
el & SN S I GE 20% 3T 15% &
% ot figem @ fasnt goa = ar?
(a) 1460 (b) %1428
(c) 21365 (d) 1397

=028

=928

a

52.

Ans : (b) T2 F 918 faaH F1 f@# 7w

o ) -
_ 2100){100 -o)x(loo 5}
100 100

80 85

=2100x—x—=1428 %.
100 100

53. Wreel 7 250 § Usk SHRIET AW (Har @i
frore 3 ww ag Fw Al e @ afki
e & 3 0 (@rRd & fEv ¥, gna 0w

forotem F @9 W 25: 24 & WU F Wi & @

forvren 3 fera=m ey farar ar?
(a) T2160 (b) %2480
(c) T2880 (d) Z2920
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Ans:(c)ﬂmmﬁfsﬂ;xmﬁ

A |ra 3 freven # 4 F1 seE
=2250x12 : x (12-3)
= 27000 : 9x = 3000 : x

39, 3000: x=25:24
- 3000:2
X 24
.
- x=30()()><_4
25

x = 120x24 = 2880
fodz 3T 3uv7 grr Ut @RI & 3iEd 70 §,
3IAT AT YATHA FHT WA WhiT &7 34 56
wafer yaHA AR fad= g/ o @R @
e 78 ¥ faa=s 3uv 3w vame g wre

TRIT T ATaq a1 &7
(a) 67 (b) 68
(¢) 69 (d) 69.5

Ans : (b) 3f2, fo@= &1 @R x
TH I H 'y I TAHAT F 2 8 Al

XY _70 9 xty =140 ......... (i)
Y¥Z 256 Tytz=112 i (i)
“T" =78 W 24X =156 oo, (iii)
TH YHR dH1 H AT W
2(x+y+z) = 408 l
a1 x+y+z =204 '
- N we & 204
aﬁ:x,yﬂmz$maﬂ3ﬂm=7=68
55. 1S:xuS:yarat xoy =2 N
(a) 21 (b) Q:N
(c) 3:1 N TN
Ans : (¢) & ™ &F9F 15:x0: v
.  LB_3
Xy
- x_15_3
y 5§ 1
X:y=3:1
56. 1200 T T WA & 0 10% aAMUF: Ahgig

ST U7 TaT SArar £1 97 2f e sare fehaar grm?
(a) 264 (b) 246
(c) T240 (d) 252

Ans : (d) T =T1200, T = 10% TMHs
a9g = 2 7

BET IFALE L =|200x(1+%}-

=l200x£=?l452
100

= 1452-1200 =252

Tmgfa =T

60 =aTTh Tepdl 2ram &l a9 o 36 fex &d &

I T ST FEET U T W, U W Afvw
I BIgHT Tl T &1 1T H GO &I § Fe

fererent faraet fe =1 woa &m?
(a) 46 (b) 45
(c) 40 (d) 48

Ans : (a) T8 60 =AH | FW & #4408 =36 faa

wH Az x 2 3 60 FRE 39 I F

6

qT 3 € A

60x36 § 60x6xx
] |
x=6fEq

31360311‘?‘-585!%:15 =fepdl & 9 91 & @18

M =AfFE = 60-15 = 45

T I I =

u

a1

3@ afz 60 = f» FF 2 6 29 1,

aa4sa%%aﬂryﬁaifﬁa‘r-

60xyv  45xy
y -
6 6
60x6 = 9y
y =40
3 T @l faH FHE = x+y = 6+40 = 46 T

ATATaeh &raar/Mental Ability

58. e ? & vum oY waifus oy fawen &
|rg?
EV:27:JQ:?
(a) 25 (b) 26
(c) 27 (d) 29
Ans : (¢) 55 7#R F-
'f V : 27
!
5+22 = 27
347 yHR 9
I Qs 2
10+17 = 27
59. e ? & T WY wWAUS IUYTH [GEwed HA
|rg?
BCE : 4610 :: KMQ: ?
(a) 222634 (b) 111417
(¢) 111317 (d) 111217




Ans : (a) o9 w&R

QW 4,

m

— N

2x2 |

3x2
5x2

T T
2226 34

!

3 =y B-
1113 17
KMOQO
I | | x2
13x2
17x2

-

amm

60.
Ity ® waifta € S R gE g vee g

¥ wafa §:
m:uﬁw::m: ?
(a) (b)

(c) (d) fag

Ans : (a) 59 vFr ¥ fawems & 9955 #1 3e3ad
fopan stmar 21 S 3 W § SAesfaenE # gredl (Ts-

i) &1 3eEEa R s 2
61. THT=T 21817 sf@e o 20 & A ?
BEH, DGJ, FIL, HKN, ?
(a) 1P (b) IKP
(¢) JKP (d) IMP |
Ans:(d)aﬂéamkj@@wmﬁﬁmg‘nﬁ,- |
2 2 1]
*.2_‘ | +2 | J
I y
B E H G J F 1L N S MW
I +2f I g} ‘T ?
) S
M famed (d) 9e 2
62. T 318 e § AT 7l 3T
AU, EO, I1, OE, ?
(a) SA (b) vOO
(¢) UA (d) VA
Ans : (c) & ¢ @R SEen fasaq anfi-
I
AU EO 11 O E I_fU__A
L+4 H 4 e N 46
¥a: faFe (o)8d 21
63. T & Y@ W AT FAT HTAM?
CF,FL,IL, ?
(a) I (b)y LO
(c) OP (d) MO
Ans : (b) @ TE 3R @ fAeaq -
+
[T+ L 4
CF FI 1L LO
+ N EEE
+3 -
3a: faFeq (b) 98

I Ta&eT 1 999 & Al (& o\ Ug o 3

64. T T sjEen W A FEn A’
12,23, 34,45, ?
(a) 52 (b) 54
(c) 56 (d) 58
Ans : (¢) & TE T HEer e qui gnfi-
12 23 34 45
114 +114 +||1|+1F¥3l
I faweg (o)Te 21
65. T T sjEen U SN @ AE?
151, 7, 181, 10, 211, 4, 241, ?
(a) 4 (b) 6
(c) 7 (d) 9
Ans : (¢) & T2 3R Jaer e -
151 7 181 10 211 4 241 |7
1+5+1=7  1+8+1=108 2+1+1=4  2+4+1=7
I fames (¢)&d 21
66. A= g sjtasm ¥ et g @ wnfi?
2225,2249, 361, ?
(a) 2400 (b) 2411
(cYN2421 (d) 2441
Ane: (003 7 IR HEen freag aei-
2025 2289 2361
A
+64 +72 +80
R
+8 +8
#: fames (d)=e 21
67. T dwn sqgen ¥ el e @ anft?
315, 317, 322, 329, 340, ?
(a) 352 (b) 353
(c) 357 (d) 363

Ans : (b) = @ gmen i ®9 F fAeEq @i
FEA H TAF IFE WA F [ G § FHAER
UF FAS WA WS4 W A & @ 2
315 317 322 329 340 D:?]
+13

I N IR | B |
I

+5  +7 11
Sl 92,5, 7, 11, 13 37959 §&A0 £ 34: 981 W
faweq (b) 9@ 2

68. afeTuT-gd St 31T Y@ U U Uek =atvh 45° W
gt @t g3 &t fayn ¥ g3 wmar €, R aw 180°
T oEt i gE Fi Ty § g Aew

Ha 3T g fore fovm o 7

(a) T4 (b) IW

(c) =feqo (d) ufEm
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Ans : (b) =
g § sife oot
T A Y & A4 i fEEm
b L/ 4 e T
' NN
45’
i g o T (e
.4 2y.
3 NG W WY ¢ 5 3 # =fw # oqE W fen |
2

69. 3Tt IWT i 31T 5 feRdl. wIoTal € 3 (T aTg
A gz A ) 3 femdft. wew & @ 9w 9
3T g wrar § 3w 5 fomft weer #1 o @
U Tifives famg & fom faom o &7
(a) IW @& (b) IT-gfEw
(¢) afEur-gfg=m (d) ZRoT-gd

Ans : (b) 3@ ¥ =¥ 2 % o9 7@ F F § a9

SR fig § SeR-ufyem faen & 2|

3
|
e J
70. = o MU wvE ¥ uw wuA It o SRS
AR & Tk wArk 1 21 1 faw < g smaent
IE 99 HET @ TR weE et e S aeea
287
HYT: N GEFA FI AAF F7F o @y @
aife ?

weh: 1: @, 399 97d H @l # Fmd FA @
E o
11 : 78, 39 favfg § frafs zam & Smef
TATT & S |

(a) Fae 7 | A=A 2

(b) Fae 7% 11 HoEd 2

(¢) A7 @ |9 & 7% Il 79iaa @

(d) & 13 7% 11 2T Foma &

Ans:(a)mmﬁlﬂhﬁmﬁﬁ%ﬁmﬂ

sfa~ o9 ¥ 2w e F 9ver § 3fg enf famw
2l # 9ET AR # AT 9@ 89 ¥ a1 F At
FH AT | o sEves @ 5 39 vt | fEE sam
¥ i g @ 9 s fAEE sam § a9 e
& 78 a9 oE TER e miya @ €1 ¥ F9a
7% (1) "o d 2|

A|m\ﬁ%mmmﬁéuwﬁnmm%mm

f=r faw 7o wvT § v woa wniver & e
FTAW T 7k AT 1 AT 1 few o ¥ smueRr
TE TG HIEAT N 6 FHAA/FAE T weEd
/&7
HIT: T Faendarg fAar # 9Rd § gieafea
ferar ST =R ?
1: 2, 98 ofa =Jaeq1 & gare & &
Il : 78, 22 2ol 9 oftan yoreht #
I9 F 2|

(a) émamwé

(b) F=el ad 11 q9Ed 2

(c) At b 17 & 7% Il 7om[a &

(d) 13 aF 11 341 g99q &
Ans : (a) TR H e fFER qumell # genfea
foran s =nfew @i ©s Sfn & WS @ faae gud
wifd F /7 § & TF O F4 F g § afay it
F AR F OGEINE o1 S, WHE 99w =Een g
Zarfl 9reAr oftar gone® U suE 98 92 3 g8 W

71.

Aeh:

Faa 7% (1) T LI

72. ‘@A @ UAEA @ a8 GaY § o ST w6
........ % Pl
(<) i (b) He3
(W8 (d) zrd=Tasan

r—

\ns : (a) 79 YHR Gf AR & IR 99E W IR

| 3R = Aw w7 F
73. 3 faahed ol 9a= s AT (& A6 U2 | a3l

et W ¥ wefiw ¥ S R gET ue uret U

| Hefd &;

zar: fearadt :: agw : ?

(a) Tt

(c) HYAfFEl F 3
Ans : (b) 58 Y1 ¥ Fa1 WA (Dispensary) ¥ Wt
ST @ A HAE # I ¢ diF 3 IER § dgF e

(Armoury) § Tl 21§98 #F St 2|

74. g I AT W FET AT § A U H ...... T B
(a) (b) gt
(¢c) zsd (d) =W

Ans : (a) 59 THR 99 F W9 I9F 99 71§99 21 IF
3 TFR F Tel W o F HaY ‘TE F 2

75. 3T (aa&eq &1 999 &1 IS 1& dET ug ° 31
3Ht ywR | wafa § 59 fw gE ug e U
| daria §:

m’é:ﬁ!‘::ﬂﬂﬁ:?
(a) =L@l (b) =TEm
(c) ¥4 (d) @
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Ans : (b) f55 y&R ¥ 3¢ % "9 92 F1 590 A s
i30T 3 YHR ¥ a9 F W 9@ H NG fHa
G

Ans : (a) fFst gl d 5@ sfafda A sefd &1 3w
aren 9 A9 # AR ud = aen 9 F9 A A g
A 81 FEfE AR F oA g i 9m efEafda

76. 'EFG' '789' W 36T UeW ¥ uafhad ¢ 9d (|2 T Wy aFfa @ 9a sfifea fAwes (A) @
OPQ il o et §: st IMYU] 25 7 #mm)
(a) 171819 (b) 131415 80. m(x)ﬁmtmmﬁqyﬁzﬁ@
(c) 151617 (d) 678 AT FATAT AT kAT &1 T 3w L T €
Ans : (a) STR()H--, e faufia (opposite) feom ¥ = AT e
EFG —»i/ 8 9 .
5+2
l 6+2 TI K
742 L
3 I wEn |- M|N
15 16 17 o
O P Q—>17 18 19
l 1512 4 I (X) [P
16+2 (a) O (b) P
1742 (¢) N A (d K
77. TR reRfa @t gUUT B F U HI Ans : (a)
K
of |0 | Jo|Fo|o k| o F el [
LG Hew
A B c D M| N
(a) A (b) B
(¢) C (d) D = m
Ans:(b)maﬁm%‘mmﬁ'ml i
1 AR aren qm AR A Al R A, | 390w @ ¢ e & vie F aAw U A & o R
L 'L forar @ 3ud faedfia faem & a0 @M
M S Fen S #) s AW E (B) < |81, a1g ot fua % Wig U wew Iare & e
A = TE 70 B g wfereqert T W ¥ svETE uw fafyw wma &
78. W& fadler @ 9T UWEslt Tfte. did AR ey difges wafa & weam @ fafofa faman

Foitar gam) @t urg fearome ¥ O e Fan
fer 2m?

+ + ¥ = &)~ . 4 ‘@_'T
0/ : B 0 /s
7+ O v + O
A B C D
(a) A (by B
(¢c) C (d) D

Ans : (a) & TE T AFfA § fEdeR T W uneyi e
F AE AR AZA W W F A€ 9 F + o O F
= &N wd A AR F C+ faR A O F o #M v

% AR faard am)

79. T 3nkla it Ut W B =T B2
WAN MVYU | NYM | AW | WAN
A B C D
(a) A (b) B
(c) C (d D

wTat €1 3 wwg din § aredt wegfy oft et
£ i sman i & St g fafye waw @
Aferes AHT T AT i SFJA(T o AT 1 3
T 37T G W A ATl waw vest wiatwmar
T Tt =T ?

(a) 3H WEWE % fou 3= wivmiE § e

o HEAT

(b) =T & o0 SHa1 F ¥19 925 AT HET
(¢) 39 W ¥ =TT AT

(d) HI 99 999 o & fau 939 g g

ST FT|

Ans : (a) T8 W R2H 3@E § @2 H TH (449 a9
# fim difas w=fa g fffa e o 2 wd 3.
fafgm mmg & ffm arh wfa & ool S @ afes
e o &1 i 5w 39 ffya ovg ¥ ofos 9w %
are # oRfa & Il 21 o 3 3§ dewE # forg
79 I=q WivEE 8 e & afte & i @

s g9g 3497 f2ar -1 @1 2
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82. W& WURAT UM 7, 13, 19 o 19eff HEn
T B2
(a) 125 (b) 120
(c) 115 (d) 110

Ans : (c) & T guft 7,13, 19, ..........
gt 4oft F1 999 92 a= 7
ad AW =13-7=6
goft #1 1931 9 T,, = 7+(19-1)x6
Tio=T7+108 =115
Freaterfiaa sj@en | 3rTelt T @ | &2
4,9,17,35,69,?
(a) 139 (b) 138
(c) 140 (d) 142
: (a) & T S@en qui w9 § faerad anfi-

Ox2-1 35x2 -1

% by

4x2+1 17Tx2+1 69x2+1
frefafaa saer v sereft dear s o 82
4,12, 16, 80, 86, 602, ?
(a) 603 (by 610
(c) 608 (d) 620

Ans : (b) & 7 sgen qof w9 § e &rfi-
4, 12, 16, 80, 86, 602,
| x3 +6_ 4|

83.

Ans

4

84.

B iss § . ﬂ*s@‘

(4x3) (12+4) (16x5) (80+6) (86x7) (602+8,
85. W& e Wl ASRAT Uk Uivh W @Sl | WA
TSeht, Sl BT W HAY: Aiegdl L wes H

fepat ersferat 7
(a) 27 (by 20
(c) 31 (d) 423

Ans:(c)ﬁf?ﬁﬁ@?ﬁ%?’,m‘ff‘:—@ﬁﬁﬁ%ﬁa
At dEF A BRI A T WOET ;. Sieedt 8 o
ufts # @EfFal #1 dem -
(16+16)-1 = 32-1=31 2|
86. TW=i4 Uitam Svil ahf &, 340 & QAre, 9 o
s o i e & drewed, e w §

87. TIZHI W TS U §, fawa @ B ¥ IOa

T WY § 3 freew ard B | |rad e ww

e fasa i faenw & fter 7amg wrgss €

U+ W fera w1z &7

(a) 28 (b) 36

(c) 43 (d) 22

Ans : (a) FSF F uf d ad 3R 9 a9y 9% agF

FA = = 10

2 BR & faw 7 g FEH @ g = 7

fasra wd famn % 49 Fa ag% A e = 11

ofehd | i AR B HET = 10+7+ 11 = 28

88. @ig WEM w1 Naal T, YHAR | o fa7 uEel
T & AT, WA o gEenrwan foq, @ear o
ar?
(a) HWER (b) HTEER
(©) TFER .\ (d) IFEW

Ans : (b) FE FT SZANET = ypRar -2 fam

A PHAR =Jie ) 1 umal fa

e 209 S = YEAR + 11

3}: 1049= 17 V& = YHFaR

A9 T+4= 2T A HTerEr &

8 Al qgell HE H TGN g A Ugell 9
............. Zrm
(a) TEAR (b) ¥FHAR
(¢) W-ER (d) HHaR

Ans: (b)Tel 2 5% ¥ | 97 9% Fd f&1 Fi 5@ = 31
. faem faq = 171=3 (319)

3 1qa£1¢man+?ﬁaan=wiﬂn

90. ferdlt =g 9TaT ¥ CRIMINAL Rt RCINJLAN
& w0 ¥ fa@r wrar & oo st wmr o
TERMITES & &% wifga fear wmomm?

(a) ETJPSNOK (b) TPJKMNB
(c) ETSNISET (d) SNJPOKLA

=W TSRl A Wiaarrar § | J@t forar 34w 3
TAY IAHA | HT W Teha o5 47

(a) 20 (b) 25
(c) 30 (d) 28

Ans:(d)qﬁﬁiﬁﬂ@mﬁﬁémﬁmm
F 2 vd R @Y W 9Ad 9 A9 § 9iewd 9¥E W
&1 @1 wlien 3T U gu g #1 wem

= (7+16)-1=22
sfaafar & srefeaq aesi #if dem = 4
HEFA gL ASH A HEA = 2
FE § FA ASH I TG = 22+4+2= 28

Ans : (¢) 59 ¥R T-
C R I M I N A L
X | '| | lJ | ll X
R . e ¥ N3 L A N
3% 3 9 8-
T E R M 1 T E S
X ' l‘ ?‘l\ " X
E T § N J S E T gMm|
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91. Tt wrz wraT ¥ GRAMMAR ST HSBNNBS
* WO W o Srer £ oar st wie 9mer o
GRATING &l &% sifga faar smom?

(a) NIGRATG (b) HSBUJOH

(c) ARGTGNI (d) ANCPOKL

Ans : (b) {59 9=R ¥, 3% 3 9FR 9

G—2-H G——H
R—2L ¢ R—2_y¢
A—5B Rt B
M—5N T30
M—L5N —2y1]
A—>B N—40
R——S$ G ——{H|
2

92. afe ferdt @rg 9Tar § COURSE, AMSPQC a9
HAET & Ar I g 9rar § SPEAK @)= 99
Sra?

(a) QNCYI (b) QNCLIJ
(¢) NCPLO (d) YKMGP
Ans: (a) 50 ywrR |, JiF 0 5FR ¥ Emi
C—="9A
0—5M s—2 [0
U—>8 P——|N
R—95P E—9)|C
$—=0Q A—1Y
E—=>C K——{ N

93. f2u Tu yreg | 78T & UH fan T afe ¥ forad
3Tk e a4 E e E St fE st
FUTHTAT & Ik arer 82
PARCEL
(a) A= (b) A
(c) 99X (d) TH

Ans : (b) = (PARCEL) ¥,
PAR. U8 ARC & 3&dlH F4 W,

PAR — PQR
ARC — ABC
34T Fef A S ITAH 2|
04. F& SWITCH V1&g & 1ol & JuimTer & &9 o
AT WY A fRa 2rerl & T srufatdd
(a) @ (b) =R
(c) TH (d) =
Ans : (¢) B 1 = SWITCH

2345 6

st F qviaTen 3 w9 § @ W, CHISTW
HA: FaA I UF AN W ¢ G WA AuiEfia
WAl 2

95, TR WiZEm W 3N Weha WA FU USH Ii0a A
wET, 'ag WY TUAT & UsWiH AL H qrer i
garay] §1'' geE w1 g | an g 82

(a) WY W

(b) T/ATE/g3M

(c) ==+

(d) Fav favifa 7 foean s g 2

Ans : (d)

dfF s § g F ar § F5 gEa T &
2 31 Hay fuifi =& s w2 2
96. Ueh TIZat, Uk o170k &l HUAT |T oh 913 o g3
* ®Y W U9 A=A o FgET W oS |
e g7
(a) fom (b)  STHTST/ TSI
(¢) T UTHFFAM (d) IgH/AGH T

Ans : (4
O——0O+

e
~Q

TR WA

T W, deH F ol ¥ 9% (@R F oo &
el GECIRE ﬁaaa/m qR (Cousin Brother) Gl

97. W faehed @l AT W A8 g ¥ T HeH

H[IAT AT & 9 THA U Gged U | WS Hyar
2l

Q‘H : TAFLTT @ gl ——
(a) FF (b) FE
(c) A9 (d) Fﬂﬁ"

Ans : (¢) 9 ¥R ¥ =@ UF WAIH a9 & A0l F)
3% T vER ¥ g@ o wawrd 3 o owh & s
faeT (c) T& 21

98, IW TaRcT FN FHU A AEL UG H TG HaT WA
AT & W GE UE UEe U W W HAT §
TAFTEATST : WIS AT 22 WSt @ ——

(a) #M& (b) YH9

(c) T4 (d) an

Ans : (b) 58 ¥FRr wHERT § 999 oifa 1 2eEEA
fhar S 21 3 I YER ¥ FWieet § g ag
3GF FAU US 9E A2 F 3egas fE e 2
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= a9 3@ 39 |AmE & AN o A=t
fearar & =t =mar & £

fere =maTlt shae Mg 3T 99 w1 S wEd
g7
(a) 2 (b) 138
(¢) 136 (d) 73
Ans : (a) f%T T 59 3@ ¥ WY £ F - F99 7§ 3R
99 F SR F a1 ARG F ST 2 2
100. = 99 M@ 39 STt & 9 7SSt
fe@mar & =t = &

R

wHael g 3w & it @ wWeEn @1,
wHae e AR Mg & SiiEr & Wy =4
T &7
(a) 1:10 (b) 10:1
(c) 14 (d)y 4:1
Ans : (a) T2l F9d, 1§ 3R 99 & =qfEF wwn =
2
U Fad AEa UF T & ARG ) "l = 20
2 |

20
= 1:10
101. =1 o9 2m@ 39 snaifian & o ° ST
fe@rar & St =ma & £

D

FHaer =rEae A g & SATaTiEn s WEE &@’v,

99.

A o9 h SATYIRAT o WY AT AT &7
(a) 4:23 (b) 23:4
(c) 4:13 (d) 13:4

Ans : (¢)

72l Faa 99a d 1 & SfE # 9En = 20

UF #4994 F ARE F G& = 65

39 YFR FA@ TEGE-TE F ARG F G N FAA

94 & SAE F GEn F 9Y #a

20 4

65 13

=4:13

102. =1 =g &1 ATgde LT T A WYl &
IAT 2
AW =E a9 2016-17 ¥ &HUAT "ABC” W qiw
AT A, Ay As, Ay 72T Ag | THots wfgal
i fasht & " | STt guTtar g1

i
Az AJ A‘ As

£y-2016 [_]-2017
ad. 2010 & forw weft ymEneh @ e fasr

30+
254 -
204 - - -
15+ - -
101 2 R
5

-’

A,

Sales (crores)

& ) W ad 2017 W et | @ ofav £
‘a)” 10 (b) 20
(c) 15 (d) 7.5

l_‘ns:(a)a‘f2017ﬁ¥l‘*ﬂ5 st § fasht & am-
ArFAFAFAFAs = 0410415430425 = 80 TS
¥ 2016 ¥ |9 5 ym@ed | @ 1 am-
A A FAHAFAs = 5+H15425+15+10 = 70 FUE
3 A | 3T = 80-70 = 10 T3
103, = 92 &1 sAgaS 2T Wi AW Uyl &
3T 2|
AW A2 T4 2016-17 | HUAT "ABC? W U=
AT Ay, Ay Ax A, TIT Ag @ FHETE Tigal
& farehl & 9 | STeRi g9Tar £l

................

54 - . - o b o
77 AR
A; A3

£5-2016 [_J-2017
ad 2016 & oW A,, A, VTETSAT w Fer fawhr

Sales (crores)

Ay Ag

(@FIrE ) | ad 2017 o fast ¥ 3= 3iaw &7
(a) 35 (b) 10
(c) 15 (d)y 20
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Ans : (b) T 2017 # A, T A, V@S § 3@ O @
Am-
Art Ay =10+30 = 40 F3
¥ 2016 § A, A, Y@ § F fash F; A-
Ayt Ag=15+15 =30 s
w4 st § 3 = 40-30 = 10 TS
104. 3H THA &1 === e AN 99 H I 8

A B C D
(a) A (by B
(¢) C (d) D

Ans : (d) 200w & ¢ wFfadi § 9 sgf D w=
i F arem ) FMF w7 o sFEE § 10 T @G
&, wafs s D # 12 F fag €

105. 3 SATHTA 1 A= h{ AT 99 | 3T &

© z|qr O|gp & |0
g Al DA @
A B C D
(a) A (b) B
(¢) C (d) D
Ans : (a) @ T TFHE H T FA (A) FEE HAT 2,
s A (A) F oft o5 # omifEa fm @ g
vafs 3 off aFfE § Faa @ a3 & sEitEd
39 2 BEifha Al fhT TT F)
106. 39 THIT &1 =4 i o 99 F AT E:

SE[S[0.
e = N
A B ~ N
(a) A (b> =93
(c) C N &

Ans : (¢) & T HAA H FHG (C) 37 TH i
g fim &1 F4if% o (C) & 3 = & fom 3mog

92 gu ¥, afFT I gl § a9 26T o uE g g
32 gu & £
107. 39 a2 &1 oG9 T A1 99 dF faeear 4
AT T
(a) =S (b) T
(c) 7@ (d) sFor
Ans : (a) fBu U 9 SfEt # & off, a9w vd et

32 3 T g &1 e v fasfaa frgel @t S
21 3 aume o= g § fym 2
108. 3T V& &1 999 T A 99 A (awear o

3T T
(a) Faesn (b) FHr
(c) TH=S (d) @M

Ans : () T8 W faeell, Fa1 X AW wAad wof
7 F99 WA W fEm F1 § @ wors waad
gft 7 & wd 4 Figh (OH 9 a4 3E 3 a) &
st arfiga e o9 &1 F 99 9 =d 34 (@E9EW)
™ W E A & |

109. 3T ek T ATH &1 =AT T AT 99 o1 faawmear

| 3ET B
(a) 9RAT LT qF (b) FT FF
(c) UsmE AYHA dF (d) WETE oF

Ans : (d) & T F5 § F 99@ IvHE 9, IEHE 22
A% w4 F0 47 7 off gdfE o9 F dH 3 o §
I ¥ FafE Feva A% feh 9 F siada s 2

110. 3 MHTT &1 =97 T A 99 T 3767 &

a|auwF | 3
A. 8% C D
(a) A (b) B
(a) C (d D
Ape': (¢) T AFE A fAFeT (c) AT A 5
TS F g 21 #46ifE T AL B a9 D sfafas

P vafs g C arafas faa 81

V1. SH TR T TEE i W 99 | ST A

D P DD

A B C D
(a) A (b B
(c) C (d) D

Ans : (d) & 7 wFfaal § ol D F GE 9m fadw
@ ¥ omifEd @ e o= ot sl & @ 9w
At Tl § BEitET 2|

112, 39 ATHT &1 =AT & AT I T 37T &l

A B C D
(a) A (b B
(¢) C (d) D

Ans : (d) & ¥ emfaE # § agfa A, Bud C & fam
oo amEd faw § 9w © 2 e el D @ ol
firr &1
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113. T3 smenfa o &t =t weer farat £7

(A O

o0

t O
(a) 22 (b) 20
(c) 18 (d) 24

Ans : (a) 799 § & T F § FaA
(144+9+4+2+2=22) 71 1 3; fFeq (a) T 2

AT Tt /HINDI

114. wrfgex & T o1 == 21 87

(a) wifeea #i faam

(b) & @ #1 3%

(c) T oa &1 @15

(d) @feea & fyem areht smeergafa
Ans : (d) Ot § @ #1 24 2 o § faem Sl
qARAYf W4 W iR 5d g wee =
& el =7 &1 9ed @ g9 ¥ 99 s #i wif @
21 39 W Fad €1 U ey 3 2

115. STET B2 o Teher o007 2Tt £7
(a) & (b) 3%
(¢) d= (d) ¥R

Ans : (d) 381 < § TR =0T @ §1 98 ST T
T2 21 39 T= F 999 A gEF 90 H 13-13 W
R i ik wad =i & 11-11 9En @ #
SE- A TE W W, 9w g Rl

TAF WA fawa g, S g o Awme

116. 9TaT | ITe2 AW o1 & 27 Q Tfe T 3 i
i
(a) & (b ATFR
(c) T (d) B2

Ans : (b) 91 # v i wid F 2 & G 3w FA
arel F HAPR Fad € A N fF 3 F HEFa B
IH ATHR Fad ¢ | HEHR F TG 99 UG 8-
|. V=IEaR, 2. 4EaR, 3. SHIEHR
117. A, T, @, o (68 TahTt & o= 87

(a) 5 (b) e

(c) w9l (d) ErTEE
Ans: (b) T e avil F HEM 33 19, T, 9, 9
I S 2| wath 3N o494 ¥, 8,9, § & =
=9 ‘F ¥ R aF o &1 S TE g (25) et 2
3T SETEE § 3 A9r 33 F e A S E)
118. Ta=feEa § | S=-91 yree SiferT 87

(a) F (by fma

(c) Fd (d) TR

Ans : (a) 991 & 59 &7 § =f% o1 a5 & W A 5@
wifa 1 =g g 2 3§ fom @ed &) =l § @ fdm @
21 ufeen 3 wifem, 99 fim 9 R =wer g #)
& FO = e )

119, Fo TehTant AT HIaT &7
(a) umfl 21 % & UF A 3AF T H
(b) umft 37 35 F U T F
(c) Uit a7 7% F I &4
(d) =it @1 &% & o

Ans : (a) 397 5 aofi o1 aq F wF A1 39F T W
aw Fd & Bl § & a9w @9 2 uda9n 3 agaen)
E | I ey FEIE 2

120. 'IEA 22 =T Tl AT H BIA-91 HE 87
(a) FH FH (b) TEY FH
(c) 3iferu F= (d) Fal FNF

Ans : (d) 389 2@ wF o g d A FnF 2
FH- T JqaTH & 59 &9 § 999 F 39 = &
T IR FANT A B 3H BRS FEd &) w § wa
F =TS (%) ¢

T
At
T
|

,:ng,wg

gl, awh!, e, e

. Trafefaa § @ feg area § @a-mw a1 ganT
T &
(a) 3T aTHA arf
(b) & 7 faceh o @i €
(c) ®R 1 FH FL &
(d) @ i & =e &

Ans : (b) 5T V152 U9 F T W 9gF 24 21 3W FEAW
Fed &1 8§, 9, oM, T, W, W, FE, FI, IA, T
FE- F Fa faeeh o1 w € A 7 F W AW £
&< % W F B:(6) WS B-

1. J&vaES 2. FAea=s

3. Fegga=s 4. FATFIaEF

5. TEEES 6. SYTaTEE

122. fervraur ferm vrez =t fergraaT aamar &7
(a) 31 H (b) FEH HI
(c) Toram =t (d) T 3t

38



Ans : (a) 931, G F favmar FaaH I W FH
fasmm F2d &)1 yuiq frgad favmar a9 s 39 favs
Fad &1 SE- Fen 9181, 39 a9 § 9rer #i ey g
o @ 2 odrer Fen 2 Safs R 9 favea s
T Y FH G AV Fed € oW favmmr & o
fasmar a7 a1 = &1 ¥ A Fad 8
123. oW o IMUR U7 fRar & foraa 92 2 §7
(a) @ (b) =R
(c) B8 (d) =
Ans : (d) F F U | G0 & = 9% @9 &1 Jga
HHh, GEU AHHTH/THAS AT 39 Fed ¢, fEw
& a1 Fores 19 FY F SR 8 3 oS 39 FEd
2 o foradl &1 y9a &l W & | SE- YO W g
21 39 a9 # YW Fal ¢ e @ F FH 79 B
g 3 g8 gea® fma enft 9afs 3§ amg &1 AEHE
g YA @ 2|

124. 'SATRTOT’ © HIET T FAT AL &7
(a) 34 (b) 49T
(c) dreT (d) 79

Ans : (b) FF § Fa F 394 ¢ 9991 7= § A9
1T B €| GAHE, FANE Fe 9 97T FHe |
qAF & 95 € (AW A, HEF g6, qUiA, 37quid,
i 94, RIS )
FAUHE FA F Gd HE - (WH AGHE, T07 do T,
sfeerara & d9 9 2- (I afsy, ger s a0, 3
2q 72 sfae) |
125. 9% AT i =vEt g1 — 0 @n = v BE-91 FE

22

(a) TEA FH (b) A TS

(c) T FSH (d) FAl FF
Ans : (a) T2 A F 96 8- WETHET § TR FF 2
g 1 fEE 9 fam 9@ 3/ 9uEE FRE Fed B
TaF) faufs &1, & foro 21 - | a1e Fns @ 2
126. Frefafiaa § & SF-91 veg g §2

(a) W (b) Fafemm

(c) @M (d) HaE®

Ans : (d) 7@ ™ fawen § qfem v= dEes ) a9t
vadrn, fefaan o ot 7 41 Hife v 21 o9 ve
¥ =fF o 75 F W A A A F A @ @ I
Fad ¢ feed § & fofm 2 & g s sifem

127. faefafEa § 9 S=-97 9158 7009 IIeg el 67

(a) TIF (b) gt
(c) &% (d) w4
Ans : (d) 5 S 91 F 99 I H AEH T2 Fed 2
31 39F 55T ®Y F 7G0T V= Fad &
SE- Aew T
g AM
et s
T GG
Eritail ELes |
128. o farme o weft vreg aewe vreg 272
(a) 297, SY, = (b) W, Fd, &R
(c) F4@, T4, g (d) 3=, A, ™

Ans : (a) U U RS v e, W, W2
fre aegm aiffa, foi oX 78 21 99 fasheg 3dma 21
129. faw =r fefect § ¥ ®-w1 famwew ‘g’ @

oI e 37?

(2) I (b) W3

(c)/ T (d)
PAns . (d) ‘S g9 @ waE 4@ @) afew 9w s w
|uafg & arga & 3y vafs- g, gun, Siedes e &
| g7, T Sit e 3 F A €

130. ‘wrasr' 1 W faew yrsg grm—
(a) frrom (b) Y
(c) Hfeoe (d) @
Ans : (a) ‘IO’ W= 1 faEm fog a2 fEem =@
34 Ieey/fuda & 2 39 3T 39 WA 2-
T ferera
7T EL i
9 gfa
e qF
o Fre
131, ‘3f®' veg & oFedf veE-wgE W w9d
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Ans : (b) &=t % 35 V= ©H @ o A ;W 71 IR
FAFdF A AFA v Fed ¥ OS9-S = @
IFHE- M, WEw FAE e g IW Hees
T )
132, 3TOTTET WIS H B ATt TeriT Caraivr’ & fere

e vreg ferfiaa-

(a) wwen (b) far

(¢c) 3eTe (d) TIHEY
Ans : (d) 0 fga 9@ #1989 § FEA aE &
fau % o2 FEAWT 81 S9- U0 a9 § 84 &t
T F AU gv=Em @ SafE 39E o9 § @2 g &
faw sEreta 2

133. ‘fom-=fiT’ & 31d & ot faweq =1 =w@=
wHifau-
(a) SA-9EHA (b) FE- qUAI
(c) UZ-74 (d) T - 79

Ans : (d) &= § 32 v U9 @9 &1 A 3=Ew A
71 A F SEAE WF: 99 A 21 T i # fia @
21 18- fa-dr &1 o g quen-Fue sEfE oy e
A 2

134, ‘WY’ U | =49 I £
(a) Ham (b) g
(c) H99@E (d) =3

Ans : (a) ‘T I9ET H 941 IeE HAM @) e oW
fa=dT ga+am St fF =d9m 9fy &1 /R HooN
¥ a4 37 v, §WE 50T, g4 e 2 o0m fAEe
3ET 2

135. ‘it v # fow wear @) @ T g §2
(a) e (L), 2
(c) @ (d) gem

Ans : (d) ¥ien = § o W @ yAm gan 20 e
Yod ¥ gdq At ves ugdien, @dfen, wdfen, eeiten
fz 21

‘gafed’ @ w-dt Gty 272

(a) T (b) AW

() 3% (d)
Ans:(a)ﬁmﬁfﬁ-aaﬁ’{aﬂ%aﬁs, §,3,$3ﬁ1’31
FAAMIINEF, I 3T FT 20 3 4 F WA
S &1 96- gARd & 85y fFeE - gd3sd, Teed
F W + 329, TV F WM B 3R wR a5 4R
21 @AY F U (5) ¥R 21 @ w@ g, T =R
§fy, gfg = |, 301 =1 69 9 e = ||

137. V& 9T W1 I Hitau-
(a) 391 foen = 2
(b) I& fommen s &
(c) 3HE fwrer smm 2
(d) 39 famen ST 2

Ans : (d) f&7 73 e & yg A g 3 fomen S

| A% 9 fawey g 7

138. 'wee' vreg W WA ¥
(a) FHYT TEH (b) @ETEN HEH
(c) %% 99 (d) fam a9

Ans : (a) TS99 V= § FHYRG B 21 FHGRE TOE
¥ favmor sy, o ITHE IUNA # §aY & 81 S
TEHE F fAuE @ wem 2 A

139. aT=a & fehaa 92 74 &2
(a) & (b) U=
(c) 9mE (dy &=

Ans: (d) 3= F ¢ A 92 814 2-

FgareA-smd A # yuEw &f 2 @ 3w gEE
] |

FATA-zTH FH A gIEA @ 21 39 g 9
AR
TFATeA—35H 9 & TUEAT A €| 33, I8A 931 @

= I"’,THTI

140. a7 fea9T ugar T&ar 81 — I@ifeha g ¥ e
= U FATZUI
(a) GRUTHETE! (b) fAum
(c) T=IFaMH (d) I¥a=ES

Ans : (b) 98 &R Te@ & 21 a9 | farw fom g
fue #1 34 3% @ 21 e 3 e #7296 )
from &1 #E fof 3= 98 g gea: s Y9 s

F fouw & 81 99 fasey o/ 2

141. () g | fou 7o foom forg = 3w g—
(a) T¥AaTEIH (b) H= fary
(c) gof faem (d) faormEms

Ans : (d) (1) 39 g =1 W faoemans g 21 = i
forfeafiad fagt &1 w3 far s 21 S 59 SFR o

1. gof fams —(1)

2. 379 fa - ()
3. 9 fag - ()
4. Y¥FEEE - (?)

5. g fag (‘")
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142. ‘=TeT i @ (HEer '~ el @ g -
(a) Fel-9el &L 919 hgl
(b) TUI-EN I THE FEA
(c) @&d Hima fere
(d) AFFa FW FE
Ans : (¢) @ FI @ FFET - qRER F 74 - TG
B g w9 ey swng &) UY gy St
T 34 & AT T HU S fe o oAy
| 39 qRE Fad £
‘ImT fa= @ ataAT TRt e A - TR @
aref g—

(a) g fm s g@  (b) g A f@E &
(¢) ¥R fam =iz @ (d) 4@ & g@ &

Ans : (a) TR fa7 #1 = e @9h @ a@wifs @
o4 - 9 B W g@l 9@ 38 Fu9 R o
favm & 3gA fFan s @, @1 39 SFIfE Fad 21 A
% g qui gt @ sEfs qerEl § Ay qul T e 2
144. TS & TATHT &

(a) T9I= (b) fem

(c) (d) weredt
Ans : (a) FE F HAFR FAVEH TS 2, S 1936
¥ yaifym g formen griw sma Sftem @i faer ud
3 afew URTE FAHAl SE- B, 941 U4 331 e
| WO ¥ A 8 T e A 1S W
Y WEAT 145 ¥ 149 a1 3T (€U T T=I9T & OoE
o7 difsa-
wigar & wHF AT Whe @ &g T O
g Bid &1 WiE & uner (g9 o 7)) 5 @
it | sferes wiffe @ 0 aes & E)
el oo €, g e ® TE g ue
aer AE, W 9 A qer. € W@E gu o
Fo off 7 &, g @ dien @ T@A 9w #i
e & ¥ ghven ¥ o oft 7 &, S 3o ofi 7
ATt =g #, gA gf ¥ ¥ ¥y egya wnda
T ASiE H 0 Wehdl ¥, U¥ FEN gAS He
ot uy & ufysws ® ¥ 39 TS W AIfa wraen
ot =& Telt, foret &t gEEmE TEeaE o feg
et @ € 3 fag wifraenl & guem e
& 1 AT T TUT Fi, WILAT FP 3 grew o
et ¥ afes oW gt W T HEa &, A
wfa-wyeE, smen-fae ar od @h g
TgraT-ferErar a1- Us fage geEem 7 # o
e # faw @ W ugen §, 9 ' 3w
wfersr wet fieft &, 39 waw g o 3 1w
T £

145, Rfgar =1 WHF T4T WWFH FIF BT That &2
(a) 1 Fam & F4 & T 396 W § A
T 7
(b) St HfFr gaar 2
(c) i FHfaaT Gt 21 34T 2
(d) ST THIA FIT 2

Ans : (a) 38 ™ Y F H9ER Ffa@m # wEy aw
1o 981 21 91 2, 5 SfEadr & 54 F GUHE ITF

™ & g o 2

146. 73T & 279 f9r6a § o@eT &
(a) fa agn o (b) =R-fAEr
(c) s 791 g1 (d) T F91 FY

Ans : (¢c) 8 T3 TV F FER =D T 94 A |
Witk 3 421 @ €, 7 & s a9 o i1 '9 gk

147. YT &1 Aied fehad &7
(a) Az A FLEWF (b) @A T F W
(¢) T gg & (d) 9= et # 5w #

Ans : (b) T ANSTRN A T 09 31 d=d 2E A
F gfr 7 1

|| 148.
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